

## **PROBLEM:**

For the following functions, determine all of the poles and zeroes, including those at the origin and those at infinity. Indicate any repeated pole or zeroes.

- (a) The poles and zeros of  $H(z) = \frac{2}{1 z^{-1}}$  are:
  - (a) pole at z = 0, zero at z = 1
  - (b) pole at z = -1, zero at z = 0
  - (c) pole at z = 1, zero at z = 1
  - (d) pole at z = 1, zero at  $z = \infty$
  - (e) none of the above

(b) 
$$H(z) = \frac{z^2 + 1}{z^3}$$
  
POLES =  
ZEROS =

(c) 
$$H(z) = \frac{(3-z^{-1})(2-2z^{-1})}{1+z^{-1}}$$

POLES =	
ZEROS =	

McClellan, Schafer and Yoder, Signal Processing First, ISBN 0-13-065562-7. Prentice Hall, Upper Saddle River, NJ 07458. © 2003 Pearson Education, Inc.





For the following functions, determine all of the poles and zeroes, including those at the origin and those at infinity. Indicate any repeated pole or zeroes.

(a) The poles and zeros of 
$$H(z) = \frac{2}{1-z^{-1}}$$
 are:  
(a) pole at  $z = 0$ , zero at  $z = 1$   
(b) pole at  $z = -1$ , zero at  $z = 0$   
(c) pole at  $z = 1$ , zero at  $z = 1$   
(d) pole at  $z = 1$ , zero at  $z = \infty$   
(e) pone of the above  
 $F(z) = \frac{z^2 + 1}{z^3}$   
 $Poles = 0, 0, 0$   
 $Zeros = +j, -j, \infty$   
 $Zeros = +j, -j, \infty$   
 $Z=0 \Rightarrow Z=0$   
 $E^3 = 0$   
 $E^3 = 0 \Rightarrow Z=0$ 

(c) 
$$H(z) = \frac{(3-z^{-1})(2-2z^{-1})}{1+z^{-1}} = \frac{(3z-1)(2z-2)}{z(z+1)}$$
  

$$\frac{POLES = 0, -1}{ZEROS = \frac{1}{3}, 1} \quad 3-z^{-1}=0 \Rightarrow 3z-1=0 \Rightarrow z=\frac{1}{3}$$

$$2-2z^{-1}=0 \Rightarrow 2z-2=0 \Rightarrow z=1$$

$$z+1=0 \Rightarrow z=-1$$

McClellan, Schafer, and Yoder, *Signal Processing First*, ISBN 0-13-065562-7. Prentice Hall, Upper Saddle River, NJ 07458. © 2003 Pearson Education, Inc.